MATH 190, QUIZ 3

Oct 22, 2018
Time: 15 minutes

Show all your work. No calculators, no books/notes are allowed.
Name (please print):

Student number: it

1. Questions (a)-(e) below all concern the function
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(a) [4 points] Use the definition of the derivative (and not any other method) to find f/(2).

. / ) -ﬁ ‘ 74 /
:?(_x): D (7C+t\l) —16(1) vfi@ ?(2): e :F(Z +h) _:F(‘).)
=2
h>o0 % o "
;g(’X): ?l_—x- 4 | | _\__
-(, ﬁ(z):,&w@ 2 (240 2.2 o
‘?<7-+M= : h—>O _ h O
2(24h)
‘ s(mP\(Fé ' \ o
* Do NOT forgeT > = Qoim 4+ 2h 4
brackets : C i, h—0 h
2<2+h> aewovmua—rﬂ"(\: ) 4 —@{‘-Zh) Yy -4~ 2h B
. . W ( + _ \r;,\..
¥ Do NoT ‘F‘orgeT o dishbute , /0\:%.0 4 2‘:\)'% __,LQ\A—>O (LI—+?—Jn)‘+ h
(=) W all the Term folloding it
. | =L =l
(b) [4 points] Use derivative rule(s) to find f'(2). = /QA_‘:"Om - ? = T =3
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(c) [3 points] Find the equation of the tangent line to the graph of f(z) at z = 2.
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(d) [2 points] Which option describes the graph of f correctly? Give reasons for your choice.

i. Always increasing

Always decreasing

iii. Increasing on (0, 00) and decreasing on (—o0,0)

iv. Decreasing on (0, 00) and increasing on (—oo, 0)
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(e) (Bonus) [2 points| Sketch a rough graph of f and its tangent line at z = 2.
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